TH6E1 2 ATTBEXES
=

& R UL R
GEANRH53)

[PRZMT]
1 FMe4E1 2 HEaFEHRMETE (BINEHS) (8 #EEX - 1 H

2 MMEBEHHITEIZOWLT et 2 H




1 TM6F127 HBIEFHRMETFTE (BmiRHS) () BER

[—#E&5T) (B . FH)
X4
WEROLE | SEWMIELSE | WERDIE EE
FERE & - 3H)
e =T BB & & 718, 409 10,573 728, 982
Gk 1) et 718, 409 10, 573 798, 982
e o
(1)t 718, 409 10, 573 728, 982 8 H 1,534
HOEHER
R EA ) 5,502
HOEBER
(2 EHE (T AT B ) 3,537




2 ABEHEICOLT

M Ag#E
it ) W WES (A
e H R B+, (Fr) BES T o
T | e | PP
1 1 " JiE % i 69, 894 6, 899 76, 793 9 9 0
1 B
% Ej? BEOE W O&AE R 92, 320 A1, 397 90, 923 13 13 0
z| = 3 162, 214 5.502|  167.716] 22| 22 0
& 3 162, 214 5.502|  167,716] 22| 22 0
(2) HEN=E
— ) WA
w | m H R T *&%ﬁ T
(FH) (FH)
1 1 i iR b B 435, 297 1,745 437, 042
1 Bt
% Ej? BEOE W OA R 0 3, 326 3, 326
w | # 435, 297 5,071 440, 368
& 1 435, 297 5.0711] 440, 368
AR Thim s T
)k\#%&u‘i&ﬁm:% (F-1) (F-1)
&t 597 511 10.573] 608 084




